o \%e JTo CJ'J—.'I

53g-L1> sLaULS o5 g 49

Oyster oLy 00l s’ FuiSun IS 36 Oyster

s Alie LSSl Glgie

How does Oyster work? The simple interpretation

of Oyster mathematics
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5. Conclusion: the flap-type absorber model

Failure of existing point-absorber and 2D terminator theories to accu-
rately reproduce the dynamics of Oyster has urged the introduction of a new
mathematical reference model for OWSCs, that we now term “flap-type ab-
sorber”. The flap-type absorber model d escribes a large d evice of negligible
thickness which extracts energy by pitching about a horizontal axis parallel
to the ocean bottom. Mathematically, given the incident wavenumber £, the
flap width w is such that kw = O(1), while the thickness a satisfies a/w < 1.
As shown in Section 4, the mechanism of power absorption by a flap-type
absorber is diffraction-driven. That is, the flap-type absorber extracts energy
driven by the large wave torque resulting from the modification of the inci-
dent wave field, induced by the obstructing action of the flap.
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